
Friday- maths 
 



Answers 
 

4027 4959 3782 6634 



LO: To solve correspondence word problems 



LO: To solve correspondence word problems 
You can see there are 3 rugby 
balls in one pack so if you 
multiply this by 2 you will get 
6 rugby balls! 
3 x 2 = 6  

You can see that one pack has 2 
footballs in it, so what do you 
multiply 2 by to get 10? 
 2 x 5 = 10. To find the correct 
number of rugby balls, you need 
to also multiply the number of 
rugby balls in one pack by 5.   
3 x 5 =15 

Answer 
15 rugby balls 

Answer 
6 rugby balls 



LO: To solve correspondence word problems 

Vertices are the 
plural of a vertex.  
They are corners 
where the edges 
meet.  

Vertices 



LO: To solve correspondence word problems 
• Success Criteria: 

• Read the question 

• Check the relationship between the objects 

• Decide what the multiplier is  

• Complete the calculation 

• Check your answer (use pictures if needed) 

 



LO: To solve correspondence word problems 
Fluency – work these out in your books. 



LO: To solve correspondence word problems 
Fluency – Mark your Answers 

4 x 4 + 2 x 5 = 26 
 
5 x 8 +3 x 0 = 40 
 
       3 x 0 + 4 x 4 + 4 x 3 = 28 

Circles don’t 
have any vertices 
(corners)! 

21 

22 

23 



LO: To solve correspondence word problems 
Reasoning 

Problem Solving 



LO: To solve correspondence word problems 
Mark your Answers 
Reasoning 
There are many possible combinations 
Problem Solving 
 
 
 
 


